

MCHQ-1add ס'ת

ר"ת (1) a_n, b_n זכ, a_n, b_n זכ

(a) $a_n b_n$ זכ

$b_n + a_n$ זכ

(b) $\lim_{n \rightarrow \infty} a_n = 0$ זכ $\lim_{n \rightarrow \infty} a_n b_n = 0$ זכ

(c) a_n, b_n זכ

$a_n b_n$ זכ

(d) $\lim_{n \rightarrow \infty} a_n = 1$ זכ

$a_n b_n$ זכ

(e) $a - d$ זכ

(2) $a_n = (-1)^n$ זכ

b_n זכ

(a) $a_n + b_n$ זכ

(b) $a_n + b_n$ זכ

(c) $a_n + b_n$ זכ

(d) $\lim_{n \rightarrow \infty} b_n = 0$ זכ $a_n b_n$ זכ

(e) $a - d$ זכ

הוכחה כי $\lim_{n \rightarrow \infty} a_n = 0$ - e נקרא $\{a_n\}$ (3)
: פ"ק

אילו a_n 'כ' $n \delta > 0 < a_n$ פ"ק (a)
ל'ק'

$\lim_{n \rightarrow \infty} a_n b_n = 0$ כי נקרא b_n פ"ק (b)

כ' $a_n b_n$ 'כ' $\epsilon \delta$ נקרא b_n פ"ק (c)
ה'ק' נקרא

$$\lim_{n \rightarrow \infty} \left(\frac{3+a_n}{2+a_n} \right)^n = \infty \quad (d)$$

אילו פ"ק (a-d) אילו δ (e)

$\lim_{n \rightarrow \infty} a_n = \lim_{n \rightarrow \infty} a_n b_n = 0$ - e פ"ק (4)
: פ"ק נקרא 'כ'

$$\lim_{n \rightarrow \infty} b_n = 0 \quad (a)$$

ה'ק' $\{b_n\}$ (b)

$$\lim_{n \rightarrow \infty} b_n = \infty \quad (c)$$

$$\text{פ"ק } \lim_{n \rightarrow \infty} b_n \quad (d)$$

אילו פ"ק (a-d) אילו δ (e)